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What I will inherit from  — 2192 92K X% 7% 2121 RaR® WK 72
my father is sold to you; he said nothing

OVERVIEW

X217 explained the ruling of 27 that when the 1713 buys the field from the 21
it belongs to the (121an) P17, because on account of the X7 which the 1712
received from the np12 that he trusted him, he was 121 723 the field to the
nP. As moon previously explained' it is considered as if there was an
implied stipulation by the 7713, at the time when the nY%? bought it, that when
the 1713 will buy it, it will belong to the np1?. nww 27 challenged this
explanation of X217, for we find in a Xn>92 that one cannot be 7ipn (transfer
ownership of) something which he presently does not own. N190I1n explains
why the X3 did not offer an alternate solution to this question.”

nooIN asks:
— 12292 N§N”H9) Bﬂ’Nn 295 9INXT 297 N1IYY 99NN ON)

And if you will say; let the X723 answer that 29 who maintains that the 213
can be mipn the field (which is a o7W% X2 R5W 927) to the 17 agrees with
n'% who maintains 7"2%w7 71772 278, while the 8n»=2 follows the view of
the 3329 who maintain 5"25w7 731 Q78 TX.

N1B0IN answers:
— 42,9 97195 TYI INIR P9 RIONTI 399 19 NINT 7999 11191 9315 ¥

' See previous X772 17"7 Moo (footnote # 1.)

? s'%27 actual answer was that in the case of 21 there is N¥7 M0 by the mpY> (since XivT P31 X27) and
therefore the 1713 can be 13pn even if it is a 9"2%w7. Elsewhere, however where there is no ny7 m1>0 we will
maintain (as the 1>2 rules) that 7"25w7 71pn XK.

? This question is strengthened because X217 on the '3 Ty states clearly that 21 follows the view of 2" (in
the case where one says; 1Pwoyn T2 MIp TIMPRWI? 117 "IRW 77w, the rule is that he is 711p).

* The xn there (on '} Tny) relates this story. 121X7 (who borrowed money from 1wnw) gave 1wnw an
orchard for a Dwn. After it was in his possession for three years, 11wnw told 123X, ‘either sell me this
orchard, or I will hide the 7vw which says that this orchard is my 712wn, and I will claim that I bought this
field from you and I lost my quw.” [Since 719w was in possession of this field for three years he has a 7pmn
and would be believed if he claimed he bought it from 1wnw three years ago.] 12187 went ahead and gifted
this field to his son in the presence of 0’7y (unbeknownst to Nwnw). After he gifted the field, 12187 sold the
field to wnw. When 1wnw claimed ownership to this field, 128" bought the 07y who testified that at the
time of the sale the field belonged to s'121%7 son and there is no sale. The issue is from where PWnw can
collect the money he paid to J21%7 for this bogus sale. Is this considered a qvwa m>n (since there was a oW
791 written up) and 1WAY can collect from the *72ywn of 127 or (since it was a bogus W) it is merely a
9"y 771 and 1YW can collect only from the 11 *12? The &3 attempted to resolve this from the &n»"2 of
7> Mypp Naw? that if one buys a field from a 177 he can collect the 177 from °7av1Wwn 0°031 of the 121
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And one can say; that nww 27 is not asking a question on 217, but rather 29
nww is asking his question on us, since we agree with the ruling of 29

regarding 121 °1W5 WK 107 77, as is mentioned in T3 IR POD -
— MPNA IPITT Y RN KT 199799 YT NAYY NN SN0

Where the 8773 mentions the reasons of X113 199p% 857 and 1957 719° Xn°2

79NN (which substantiate and form the basis of the ruling of 27) -
— 0YYY N2 NDY 937 NIPN DTN PRT 13299 1D X920

And on the other hand we agree with the 3327 that »"'2%27 mp» R"'N -
— (4,03 91 mam) 29 5Y GN P9 997901 )INY 5395 PIDD ININIYT

For Xy rules like 29710577 "' in 5"'YX 75 that 5"25w7 m1pn K"x-
— 12 MTNY 9199 YIS INIWM N YT MH293 920 JnIns 2

And 1'% maintains in the case where one sold the fruits of a date palm
when they will grow, that even when the dates appear, either party can

retract from the sale, since at the time of the sale it was a "25w7. Therefore nww 27
asks how we can reconcile these two (seemingly) opposite positions (agreeing with 27
that "25w7 73pn 07X and agreeing with the 7327 that 5"2%w7 m1pn R'R).

NvOIN continues:
— NNAa 295 N9YN PNY 7‘.7VQ NN A9

And 783 5877 27 ruled that in this case of the 21 1Y% the ruling is not

like 29; the field is not acquired by the np17 (it remains by the 7713) -
— 19 OYIYY N2 XDV 937 NIPN DTN PNT )Y NY20T DIVN

since we maintain that %" 2%w<7 mp» R"R, etc.

mooIn disagrees with 1IR3 7":
$(3,y 97 mpY) TYI INTINT sn:m N7 XD

And the ruling of 7" is not clear to md01n, on account of the X723 of P79
T TN, where it is indicated that we do follow the view of 21.

SUMMARY

even though it was a bogus “vw. The same should seemingly apply by the 115wn. The & nx rejected the
proof, because by the 1713 he intends to appease the 771 and reinstate the original Tow either X973 7°p1 897
or M2 777 therefore (even when the 1713 did not manage to purchase the property from the 711) it is
considered a "vwa mon, however by the case of the 11own the owner is attempting to remove the property
from 1wnw, therefore there is no 7wWw; it is 23737 J0°1 RS, The X na there cites the reasons of RI?T 71P1 kDT
and Xmna 7 which form the basis of s7 ruling; indicating that we follow 21. See (however),
‘Thinking it over’ # 2.

3 973071 "1 rules that if a person is w>Tpn the WX > Awyn [MMn] it is not WIPA since it is a 22w,

6 2,70 1P, We follow 172 11 and similarly X3mm2 SXmws X225,

7 03 ww 1o e 790.

¥ See “Thinking it over’ # 1.
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The question of NW¥ 27 is how can we maintain both the ruling of 27 (which
implies 2"2%2w7 m1pn 07R) and the ruling that 5"25w7 73pn R"X.

THINKING IT OVER

1. moon rejects the ruling of 3" since the X713 in 1"X indicates that we rule
according to 21.” Seemingly Mmoo could have asked that according to 3"77
that 27 maintains "27W7 73pn 07X then NwWw 27 has no question, for the
xn*32 follows the view of the 1327 that »"25w7 m3pn R"x?2!'°

2. Mo0IN maintains, based on the X 3 in 1"X, that we follow the ruling of
21."" The x7»3 in 1"X does not clearly state that if the 1213 purchased the field
it reverts [automatically] to the original . Rather the X713 attempts to
differentiate between the case of 1Own [where the 0w was not 20372 001
(since the owner is attempting to prevent the sale of the 1own), and therefore
he cannot collect a7aywn 0°021n] and the case of 1713 [where the 0w is N
anon (for the 1913 will attempt to buy it [for the n?] from the 71a1) and
therefore it can collect *72vwnn]. How does no01n derive from that X723 that
the 712977 is like 297?

? See footnote # 8.
10See a"mx # 119.
' See footnote # 4.
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